%)
o
)
<

= BEAM 2
FCA=3155.34 .,
4
ZYZE ZYZE
8.9877#*C0S32.249'=7% 8.9877#*SIN32.249'=VE
7.60124=2Y 4.79594#=YE
ZWEX ZWEX
3060.04*SIN32.249" =WX 3060.04*C0$32.249' =EX.
1632.8=WX 2588.04=EX
OV —FOv 7 4
3943.004*SIN24 833 =FV 3943.004*C0S24.833 =DV .
1656.04=FV 3578.4=DV THAWX=FEy EVHEX=FEy
7.60124-1632.84#=FEx ~4,7959~2588.04=FEy
e e —1625.2f/=FEx ~2592.8ff—FEy
- =
31 uuvu%nmmg 0903 =T0 uam,u%mﬁg 0903 =CT R, b,
3154.74=Tl 60.073#=C 1656.04=FDy 3578 44=FDy
.
TO=FCx TI=r,
~QBR ZQBR _ a
_ 3154.74=FCx ~60.073=#FCy
2482.64*SIN32.249' =R 2482.644C0532.249'=BR
1324.74=0R 2099.7#=BR QRiZB=FB, BRiZa=FB,
—1324.7#-1860.7#=FB ~2099.74+1174.04=FB,
—3185.44= ~925.7f=F1
~SBa ~SBa 318544 =F8y #=FBy

—

2200.1#*C0S32.249'=B3
=

1860.74=85

i
2200.1#*SIN32.249'=Sa
1174.04=Sa




